ADAPTING JANE AUSTEN
FOR THE BIG SCREEN

1. Which sentence about Lady Susan Vernon
is not true?
a) Not everyone in the family appreciates her.
b) She has visited the family before.
c) Her visit was hastily arranged.

2. Which one of the following is true of Mrs Cross?
a) She will not be paid for her work.
b) Lady Susan will try to find her a husband.
c) Sheis Lady Susan’s best friend.

3. According to Lady Susan, what do Sir James
Martin and her daughter have in common?
a) They are unlucky in love.

b) They were made for one another.
c) They are both simple.

4. What does Lady Susan say about Mr Mainwaring’s wife?
a) She has no need to be jealous.
b) Her problem is her own fault.
c) Sheis not good enough for her husband.

5. Why did Sir James have trouble finding the house?
a) He was given the wrong information.
b) He had a hopeless sense of direction.
c) He misunderstood a name.

6. What impression of Lady Susan does the trailer give us?
a) Her plans are never successful.
b) She is good at manipulating men.
c) Sheis very impulsive.
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